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General Instructions :
(i) This question paper contains five Sections : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iit)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to

these questions may be given in about 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three
marks, 2 questions of four marks, 1 question of five marks and 1 question

of six marks. You have to attempt only one of the choices in such questions.
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Qus A
SECTION A

1. ¢ e fafiee’ & vy frewes 8 S fafte R &1 it 571 @ 2 | 35
I TH PG AW wM W W 3 EH I yeus — W, faguE
Yaegeh — foag qon fodd yerus — sifdad & | 9 @ g A e Aifat @
T &, ITh1 TITeiv0 hid &, 38 ST9ed hid 8 Toh 37h 9T H SW[h aa
Itk &1, 32 eI i l¥icd HiYd & dT 3fosd 323l hl ITftd o oY 3=
i e 8 |
3w 3fgRaa wmt & Al T 3 R &1 Ieog hifae e fsare
I GU T TR R FIT M Eha1 8, TH W I FI W E 2 | 1

Das is the Managing Director of ‘Gamut Ltd.’, manufacturing different
varieties of cheese. He has an efficient team working under him
consisting of Rajat — the Production manager, Vinay — the Marketing
manager and Adit — the Finance manager. They understand and
interpret the policies made by Das, ensure that their departments have
adequate manpower, assign them the necessary duties and motivate
them to achieve the desired objectives.

State one more function other than those mentioned above, that this
team may perform at the level they are working.

2. ‘I YA o STUR W NI qAT AHII=eh a4 § 3t ¥se hifsw | 1

HAAT

‘ST TIAIAT b ATYR W a0 AT TIeheg ol § 3= T hIfT | 1

Differentiate between Formal and Informal organisation on the basis of
‘flow of communication’.

OR

Differentiate between ‘Delegation’ and ‘Decentralisation’ on the basis of
‘freedom of action’.

66/2/2] 3 P.T.0.
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3. & I hAcHS AT H T 37 8 ?
ST

‘I 1 FT A B 2

What is meant by ‘functional structure’ of an organisation ?
OR

What is meant by ‘accountability’ ?

4. ‘ol ofifosa fafies’ e 90" % .. dg@ & 18, 2019 § IE Heh
Teh A1 bl 37af & fiw T 15,000 & feemEe 9 9= o1 Y& L & 2 |
‘Sreg Cofifas@ fAfee’ gry 3uanT 6 78 fasha e Tidfatey i wg=e
HIT |

‘Ultra Televisions Ltd.” is offering its 90" TV sets at a discount of
¥ 15,000 for a period of one month starting from 15t March, 2019.

Identify the sales promotion activity used by ‘Ultra Televisions Ltd.’.

5. PHUR Th HH S8 ITAM i dTelt qeil —Jad EECMIEIRIECIERD OHeel aTel
R Gl ITEdl AT | ST UH R T i ITell Ueh fasiad e@n qom 39
HFE o WMEA T T & R TSR i T8 oft | Saeid wd gy fauue
TEYH o AR o HET IUR GlauTd, TWREE Ha1d d° 3 Sga-H gl
It Yo o Wl 8 Ned IRaR T A 9T 31E 6 S-S o Ufd LrHfe
(site T1) fornfer & § stcatfies wgr@n firerd 2 |
foquH yag o 39 HE H TgEH e ae faw 4 foqom yege $AR @
== T T A |

Kumar wanted to purchase a fuel efficient car having the latest
standards regarding minimisation of pollution. He saw an advertisement
offering such a car and visited the showroom of the company wherein the
car was displayed. In his discussion, the Marketing manager told him
that the company is providing credit facilities, maintenance services and
many other effective services which are helping in bringing repeat sales
and developing brand loyalty.

Identify the marketing function which the Marketing manager was
discussing with Kumar.
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6. HUA U ueid HHivfl el ‘wiferan fafide’ &1 s78vaeft Sohe | el Aeh
& ®q H H K@ 2 | 98 aH IR SR 1 G0 AT ], S A9
# fafim yr i s@raedt wfafaferi &1 foaer w@ € | fea oW a8
T b hd o1 YAAAU T TaT o, 3G Teh HIETR 373Nk ohl gl foh 3G
SR H IR AR S Fehdl & | 390k + A ohl feqult i Fwen foh 3Geh1 H1E
3= a1 o |

3 fearfa & gwret Tuwor <A S1em o YRR hl 98 shifvu | 1

Kamal is working as a gang boss in the assembly unit of ‘Sokia Ltd.’, a

laptop manufacturing company. He supervises the work of ten trained
workers who perform the various activities related to the assembly of the
laptops. One day when he was supervising the work of his workers, he
told Ashok, a worker that his work could be improved. Ashok interpreted
the comments of Kamal as that his work was not good.

Identify the type of barrier to effective communication in this case.

7. I8 IR foiiT giErafa & 9 U9 fosy d @iicd 3 9= a1 <41 &
TR, T UE G99 Hl 9l 8 Sl 3w UhGEL I WiSH W W Ul
qedi |

IR 1 9 SIfSIT a7 Igf Hefdd shrd shl 9g=me shIfvu | 1

This market helps to save time, effort and money that both buyers and
sellers of a financial asset would have to otherwise spend to try and find
each other.

Name the market and identify the function being referred to.

8.  ‘Trozm’ i forgi @ fomiwarsti &1 Ieoi@ HifT | 1
e
‘37udTe g e w1 319 ST | 1

State any two characteristics of ‘Directing’.
OR

Give the meaning of ‘Management by Exception’.

5 P.T.O.
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10.

11.

Qus d
SECTION B

“Hiafeh aTaTeRl qAT e Hadd Wi MR-faeha ISRl 6 €9 | WS |
Explain ‘Organisational Climate’ and ‘Job Enrichment’ as non-financial
incentives.

‘gfayfa SR 4 3fea gemeTi qun =R igar b Sgran ¢ AR gfagfd qe
fafme o€ =1 T wE B | 3§ 1 1 Sooi@ hHIfve SeE I8 v geivd 8
AT 30 o & fohegl I 31T T T Ieaig HINT |

One of the functions of Securities and Exchange Board of India is
‘Promotion of fair practices and code of conduct in securities market’.

State the category to which this function belongs and state any two other
functions of this category.

fafafigd o mar W fiv=Ties @ SH=ies Tied § 3f=a¥e shifv

() 3q;
(@) AR e
(M) g |

AUAT
Fefafad fomgatl % MUR W FEfHs tem1 du1 faurfia @@= 4 @

W@ﬁl’ﬁ:

(%) "=

(@) vEgh forehm; q

(1) @ra |

Distinguish between Formal and Informal organisation on the basis of
the following :

(a)  Origin;

(b)  Authority; and
(c) Leadership.
OR

Distinguish between Functional and Divisional structure on the basis of
the following points :

(a)  Coordination;
(b)  Managerial Development; and

(c) Cost.
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12.

13.

&Y % RIS %1 % "ew % el i famgati sl dHemsy |
e

JaY & A 6l foregl o9 HimmeTt = guesu |

Explain any three points of importance of planning function of
management.

OR

Explain any three limitations of planning function of management.

‘S, AicE’ qftssha sl o MHiAT 8§ | O o 3cUEd JEESh A & HEGR
IR iy S w1 fae & o aftsehd shal o Fmifor & Wt wefia
ST B dTfeh TR T Ifqfirar sp1 dmaen foram S &k aifeh o= it s
FH % fou e wefEl 1 T R ® § | U fawga fawewor % g
TdH dehieh o T Teh A5 LoaTAd A shd A &1 i for=m mn | I8
ot faoiy form mn o 39 wefia < foru o Sdemrefia e |1ai @ weefaa foran
S | AT S 5 Sgd-H wH S o ol SR 3W W H M U
Fofa forn it FameRatsti i Stftehan Ufawd € I |

(%) omfiy 9 grr fow e fosfiar ol =61 wg=nfao |

(@) 3wE (F) # vz U flg S gwifad w0 9 e T st @@

HHLATRT |

‘G. Motors’ is the manufacturer of sophisticated cranes. The Production
manager of the company, reported to the Chief Executive Officer, Ashish
Jain that one of the machines used in manufacturing sophisticated
cranes had to be replaced to compete in the market, as other competitors
were using automatic machines for manufacturing cranes. After a
detailed analysis, it was decided to purchase a new automatic machine
having the latest technology. It was also decided to finance this machine
through long term sources of finance. Ashish Jain compared various
machines and decided to invest in the machine which would yield the
maximum returns to its investors.

(a)  Identify the financial decision taken by Ashish Jain.

(b)  Explain any three factors affecting the decision identified in (a)
above.

7 P.T.O.
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Qs 9
SECTION C
14. SATEEISH TGO o HEwd o fohral 9R fogatl sl AT |

HAAAT
SFHTI qAT IANT W EhH Aifd § Iiterda o gwra < foal = fomgati it
REEIE
Explain any four points of importance of business environment.

OR

Explain any four points of impact of government policy changes on
business and industry.

15. &gl a1 HA1sTi o A, IUAN AT IUHT o THF Teh IUUIHN g Fafg Ty
ST a1t fopegl 3118 ITeiRcal 1 Ievi@ hifviw |

HAAAT

‘JUIRT TREUT 1 F1 379 B ? AU h GEChIv § IUHIH L& h Hed oh
fopeal di= ferrgati 1 Sooig HIVT |

State any eight responsibilities that a consumer should discharge while
purchasing, using and consuming goods and services.

OR
What is meant by ‘Consumer Protection’ ? State any five points of
importance of consumer protection from the point of view of business.

16. I9 2005 H FUMA 7 Teh HUST B! o IcqTeH fI9mT H HRfwmed (3a) TR ©
YSHeH & ¥4 § YSUR TU fham | 3T 378 $ & HEU 98 I9¥ 2010 H
FHIYH ST IJY-ICUTET JGH o4 T | 3Heh YT fs3T U wnfa oft aem ot o
gaft 3T T A ¥ | 1 A, 2019 i 3H BT o G JoHh & 98 T
UgrEd R T T | FUMA IO YR W 95 G AT FAifh S 98 Al a9
T o7 TGk 98 I o7 | T 7% YEY o €9 H PUNA A STvIAhAl-hH
Torga = ougeRt S faftre Ar=rarett w amenfa 2, o srefieen & AR
HH H o o | 3EH W8 orgwa TR T SRR 1 SIEER IehI
TavIHaret W R ar 3 IR U yaueh AU hUETEl 6l AavIharsti i
TS hieh Ih SAAER hl THTFId T Hehell B |
(%) MEvIhdl-sHT Hgia 6 Tk AT 1 eoha T e H R TR

2 | 39 fagrd il 3= I a=aisti &1 Sea@ shifve |
(@) ugHEfd gr HuTe shi hiH-Hl FAERIHATE TR &3, Ioai@ I |
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17.

Kunal joined as a shop level manager in the Production department of a
textile company in the year 2005. Because of his good work, he became
the Deputy Production Manager of the company in the year 2010. He had
status and prestige and was well-respected by all in the company.

On 15t March, 2019, he was promoted as the General Manager of the
company. Kunal was very happy on his promotion as now he had become
what he was capable of becoming. As a good manager, Kunal decided to
motivate his subordinates, after understanding the Need Hierarchy
theory which is based on various assumptions. He realised that people’s
behaviour is based on their needs and the manager can influence the
behaviour of his employees by satisfying their needs.
(a)  One of the assumptions of Need Hierarchy theory is stated in the
above paragraph. State the other three assumptions of this theory.
(b)  State the needs of Kunal which are being satisfied through
promotion.

2010 ¥ FeH 3feAT fAfHes’ FHFl Yohss @ & I1GT § HaF @ | 39 @Y
§ 95 § AR 4 a9R § Yow forn den “pew sfewn fafiee’ &t wfea
A ¢ W@ 8 | 3 I BT FEAT B o I qen SR H fem sge &% faw
HIO 3 qUH 7l @ T 100 HAS I STTAING AFTG 8 T8 ARG § Seed
1 Tofa foram | 38 foa <l Rl =1 & foIu et 3 99% ot w1 feifaa
e w1 i forn | ot o fom favmr 3 ogEE e TR 39 9% FoTast w6
frifra st <t STATHG @ T 10,00,000 B | AT 36 FAIH AT i
T AT AT B

(%) 38 3L & foru st gro Fnifirg fope oI ot 9o <6t omvEmsT |

(@) foxita TR & fohm PR & SWAE () T THSAT T IO T oH-¢F foham

SITaT & 2 98 ot Tmemse o6 39 oT9R # g fehae gifara gid 2 |

‘Foods India Ltd.” is a company engaged in the production of packaged
juice since 2010. Over this period, a large number of competitors have
entered the market and are putting a tough challenge to ‘Foods India
Ltd.’. To face this challenge and to increase its market share, the
company has decided to replace the old machinery with an estimated cost
of ¥ 100 crores. To raise the finance, the company decided to issue 9%
debentures. The Finance department of the company has estimated that
the cost of issuing the 9% debentures will be ¥ 10,00,000. The company
wants to meet its floatation cost.
(a) Explain the instrument that the company may issue for this
purpose.
(b) In which type of financial market, is the instrument explained in
(a) above traded ? Also explain how safe the instruments are in
this market.

9 P.T.O.
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18. ‘T T fdfiee’ 31w AU Wisiee & fT T 40,00,000 5 IS Thid T
It 2 | 39 UMY &) ThiEd 1 & foiw geem o1 qon g9 o fAefefiad

fir s aRA = @2 :

. TR

Sl 1(3) II (%) ITI (%)
T 40,00,000 30,00,000 10,00,000
Eaul 0 10,00,000 30,00,000

= T fefafed &

T TN & 9%

AT 37 T 3ifhd o T 100 ufd

F R 30%

¥ @ R Y Y@ 31 (EBIT) < 8,00,000

(%) o fomredi o @ fopa foshew & St=ald PO THAT W AR 61 A9
33T Tehell & ?

(@) w1 k9§ gig o a1 Tid T AW § gHI Jhg Bl 2 ?

‘Smart Stationery Ltd.” wants to raise funds of ¥ 40,00,000 for its new

project. The management is considering the following mix of debt and
equity to raise this amount :

Capital Alternative
Structure I(3) II (%) 111 (¥)

Equity 40,00,000 30,00,000 10,00,000
Debt 0 10,00,000 30,00,000

Other details are as follows :

Interest Rate on Debt 9%

Face Value of Equity Shares T 100 each

Tax Rate 30%

Earning Before Interest and Tax (EBIT) < 8,00,000

(a)  Under which of the three alternatives will the company be able to
take advantage of Trading on Equity ?

(b)  Does Earning Per Share always rise with increase in debt ?
19. T 3cd1g o Hod-MaRor ol g9ifad S arel fohgl 91 Sehi sl THSEY |
Explain any four factors which affect the fixation of price of a product.
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20.

21.

U g
SECTION D
TEY % HEw o [heal Uid 93l i eS|
YT
Y9 o fagral i forgl qre fa=isarstl sl gq=sy |
Explain any five points of importance of management.

OR
Explain any five characteristics of principles of management.

‘qeurarett foafiee’ afeeie, fope, e qem SEY YR & 319 3cdtgl o fHfan
2 | T 3= Y 39T A8l B U1 W B | HEHT o fouuE Jeeee dRy |,
HRON T IqT AT o6 T T qagqor fopan | waigror < 9iomEi 8 9ar e foh
I UG o STaSlg SUHIRT 39 HEAHT o IcdTel hl FTRITRN o Icaral § e
TR TR A | YRR qouTSIe] fAfHeg’ W IcATGl Wi 3okl TSl urE]
H TR GG FEd o Al I TR H 38k IcAGl ohl T8 gl oht a1
W® U | 38k HRU wEOAT i foshl # gig € w1 W @ oft, aiommeaEy Ay
I o | foue ergeh, SRY | 919 o1gwe TR fob ‘geuTeiett fafies’ 3eute
¥ rafa 9gd Agwqul o #§ e frofa o @ TE R

‘geaTarett fafieg’ sia-ar fvia & o6 s IUYIAT TR § 38 IcUTe) <hl
TgEH L Heh ? Al¢ ITYh U o T S, A gsarSient s’ 9 s
IUNIHIST ! hiA-hH & a9 e, Tmeey |

‘Pushpanjali Ltd.’, is manufacturing chocolates, biscuits, cakes and other
similar products. The company is not generating enough profits.
Saurabh, the Marketing manager of the company got a survey conducted
to find out the reasons. The findings of the survey revealed that in spite
of better quality, the customers were not able to distinguish the products
of the company from its competitors. Though the customers wanted to
buy the products of ‘Pushpanjali Ltd.” again and again because of its good
quality, but they were not able to identify its products in the market.
Because of this, the sales of the company could not pick up resulting in
inadequate profits. Saurabh, the Marketing manager now realised that
‘Pushpanjali Ltd.” had forgotten to take one of the most important
decisions related to the product.

11 P.T.O.
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22,

What decision should ‘Pushpanjali Ltd.” take so that its customers are
able to identify its products in the market ? Explain the benefits that may
result to ‘Pushpanjali Ltd.” and its customers if the above decision is
taken.

o, ete fafies’ srot 1 gea eTed At o, St Wit 8 Sarstt
W IAd ARRR HIoP¥E JGH R @ A1 | J U R au ¥ FeE
FHAAah Il @ o 3N =S AT A B I I | Alh U T a¥ &
38 IE Heqy TRt foh =@ &l 8 11¢y W ® &, ekl gfd oma @
ST @ R, TR off o wed o ® B | T sheht war @ @ W @ on T
T el ¢ | 3EA Tsranatt ot wrfa W e @ flierer st st feR it
g IE THS U1 &1 o1 6 e O Tod B | 399 Ug foh SAIH™ B T
IHAM Bl ST, I8 HIs HRIATE! BT aTgdl A1 | foehm 7 T arger e favms
i T fopen s ot 1 wifd W R Tt i 9 fof shreget ST

IR § ¥ $B AT g1 W o1 R A0 Hl A9 99 § S & A1 | 98
ToRST TR 3R Y G o Aol U AT T | SE WeA T e UE ST
T TATEOT ST 3T HHATET < SSH FGER i A S H qg@d e |
(%) 3IuIH =g U Uy o 18 SRl W Y1 STAT TR 8, IW YEATHT |
(@) W *IE 9 I alieh ot saEy 8 Jored &1 I8 S Ged

HERIAT L GohdT & |

Vikas was the Chief Operating Officer of ‘Yalet Ltd., a company
providing advanced software solutions to Indian Defence Services. They
had been carrying on business successfully for the last twelve years and
earning enough profits. But from the last one year, they realised that
though the business is getting big orders which are being fulfilled in
time, even then the revenues kept on decreasing. Vikas was not able to
find out where the problem was. He started keeping a close check on the
progress of activities as he could sense that something was wrong. He
wanted to take some action before any major damage could be done to the
business. Vikas appointed a cyber security expert who monitored the
company’s processes and found out that the computer operator was
deleting the entries from the computers and pocketing the revenues. He
was caught and handed over to the police. This created an atmosphere of
order and discipline in the organisation and helped in minimising
dishonest behaviour on the part of the employees.

(a) Identify the function of management highlighted in the above
paragraph.

(b)  Explain any four other ways in which this function of management
may help the organisation.

12
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23.

24.

TUE g
SECTION E
Y= Y99 o Hfdfad fagrat s aasmsy 6
() TG hl Tehal;

(@) =i &l & foe safvrma fedl ot gwdo; qen
(1) preiE Y e |
HIAT
ST ey bl FfeRaa denienl sl HEATST : 6
(%) FPrEUGM AM;
(@) UhM AL, dAT
() favereres i somett |

Explain the following principles of General management :

(a)  Unity of Command;
(b)  Subordination of Individual Interest to General Interest; and

(c) Stability of Personnel.
OR

Explain the following techniques of Scientific management :
(a)  Method Study;

(b)  Fatigue Study; and

(c) Differential Piece-Wage System.

“Tereiie sfean fafiee’ w1 frmH, <ERi, Sriwal aor oo i 36 TR H
TG ATERfTeh [oHd § Falyd 3= (IR 1 SATEISH L AN HT FALSH
T % IeT H ToRAT T B | FFEET o TEYH H hall, Hiiged qo &R 9
Tefyq yfig =afeea 2 | 3 98 fofg form 2 fo6 9 3wa gu gan wfias,
Il TAT HATHN I Teh T TGH HUl | HFIHT ST FSATCHD T h
et weh St foRamati w1 Tga s TR B | 3Hek avenq fafva fawmn
wgEt 1 Frgfe ot e T ] | e 3, I w favete s R, e e s

13 P.T.O.



s

el ARKAT h TEIAT, ThR AT AMaTIH Al i foverwor o form g |
Hrl-forerer =1 ot =1 Sfshan o ST g=T 3c9e g8 38 qT IR o Ui
fosmm & “fp wel’ w1 foepfia w0 & fow 3w fopan o | 5@ fe wfifean
T JehIvTd 3 3Aereit-ioh Hifgan | J&Tia foham T | 388 3Tdent i wg 3m
TS |

ST A= GRAT I 90 i % fae fem gro fsaiica fope e a3t
T ! FHEATST |

‘Entertainment India Ltd.” has been incorporated with the objective of

entertaining people by organising festivals, programmes and other
similar events depicting the rich cultural heritage of the country. The
company management has renowned personalities from the field of art,
literature and culture. They decided to give a platform to young budding
musicians, poets and artists. The company decided its organisational
structure by grouping similar jobs together. Thereafter, the heads of
different departments were also appointed. Nisha, one of the heads, did
an analysis of the number, type and qualification necessary for people to
be appointed. The information generated in the process of writing the job
description and the candidate profile was used to develop ‘Situations
vacant’ advertisement. This was published in print media and flashed in
electronic media. This brought in a flood of response.

Explain the other steps which Nisha has to perform to complete the
process being discussed above.

25. 99 2000 3-9reed fAfHeE’ 4 19 Y=TeE 3RY fohy | 38 €A & FHY
HH o UTE hdd od HHAR a9 & AT 9, T 3Icted faum qenm uw
e AT | USd $© aui § ol gRI ST fhT T IcATG] a1 S i
T Q13T 4 ARSI ITod bl | Jeo i U= hi Trraret § fagard o
IR 3T 3% 1 HH Y ToadAdr & T it | TS 3 I8 gg=E Tk gea |
foftm wad w fofe o9 arett i 31fe wdaar € I 6 AavERdaT @ | =i
w Hfaa ol foan 6 s= sifeemia &1 srefimeen W femor w0 gm0
LT | 308 T | efieen i Yfieht 5i¢ T8 IR 319 o iy e §, Ay
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& wEEqul (U i o S feufa § 9 | sHes IRUMTEEY 39 e 3 98d 9
gt o fafagar yred s & | FduE § SERT SO R o § Bl @ g a7 $Eh
focet @ =1 wrEd ¥ | SHRI HiSATCHS < A9 founiig e § uiEfdd &
T 8 3R GH EOMR SN 39 O § hH L @ | |

() VoY I 3T AU Hl T Frh! TErEd & w3 5gd & &

H faforgar yred s it qen fogen # $Eehl | i o |

(@) 39F® (F) § TgaH TS LR & Hg o Uid fog THEAET |
‘E-Solutions Ltd.” started its operations in the year 2000. At the time of

its inception, the company had only ten employees with two departments,
a Production department and an Administration department. The
products supplied and the services provided by the company started
gaining popularity over the years. The management had faith in the
abilities of the employees and thus they allowed them freedom of action.
The management recognised that the decision-makers at different levels
of the organisation need to be given more autonomy. They took a policy
decision that there will be less control of superiors over subordinates.
This increased the role of the subordinates in the organisation and now
they were in a position to take numerous as well as important decisions.
As a result, its business has diversified into many areas. Presently, it has
its operations throughout the country with seven branches overseas. Its
organisational structure has now changed into divisional structure and
ten thousand people are working with the company.

(a)  Identify the concept of management which helped the company to
diversify into many areas and branches abroad.

(b)  Explain five points of importance of the concept identified in (a)
above.



